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1) 83462 * 704 is divisible by 3, then the sum of possible digits in place of *is:

83462* 704, 3 & fasrax g1, ar www%ﬂﬁmﬁ#wzﬂw%&
(a) 17 (b) 15 (c) 16 (d)19

J ST b
S s
iéi;7 Z24THB = IV

us + X =€ *;v%”/{’\/

—¢ Vv
g %6 —
/ -1 L% —
= )

am

2) The largest number which should replace * in the number 2365*4 to make the number divisible
oss e
by 4 is: )

g Ty 957 G&IT i TY § S T&IT 2365*4 F o TATH IR 3T A1fRT d1feh 9red T&AT 4 § [HTT 812
A)9 B)O C)2 D)8
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3) If the number 1005x4 is completely divisible by 8, then the smallest integer in place of x will be:

Iie HEAT 1005x4, 8 T T TIATST § oY x & TATH I FH BIeT YUiieh ... g
R

@1. (10 ()4 (d)2

JoOT X Y

G+
i 9

4)How many pairs of X and Y are possible in the number 763X4Y?2, if the number is divisible by 9?
<~ -—

AT 763X4Y2 H X qATY & fhdal S & afe g dev 9 @ R_wnfSa gar gl
@8. (9. (c)10. W/‘W
%%?xuv% ntg
'Y
U+ nt+
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o s g 2
< O A S
) M & 6

y | 683
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5) If 8947A56B1 is divisible by 9, where B is an odd number. Find the sum of all possible value of

AY

319 8947A56B1, gﬁmg,mswﬁwmﬁ A & gl ganfaa ATAT ST AT ATT 2

(a)26. (b)27./(c)30. (d)36
8 N 22+W
8%%7 Q/fé a ueh 0 2
U3 - 9 'S 'r'glq\l‘?’6
A3 =S A}Bﬁ g =5
2.3 g =g T = ]
Bor i < 0 Y IL):X
a2 | »
pH=U A =9
N - UdL24+0 234240

6)What is the least value of x such that 517x324 is divisible by 127 '

— —

X T +gTcIH HIeT T § foh 517x324, 12 ¥ =T 872 /\

@3. (1. ()0 gg/ 33X\
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7) What is the value of x so that the seven digit number 5656x52 is divisible by 727

—

X ST HToT AT 8131 Toh 7-37hIT &AT 5656x52, 72 8 AT §
@5. (3. (c)7.7(d)8

2
SCSE XS R :L/\
2% 42t B K9
I 4 L o
a2 & 2t

8) What is the value of x so that the 7-digit number 91876x2 is divisible by 727?
X ST HTeT AT G191 foh 7 3Py H&AT 91876x2, 72 § [aHTsT 72

(a) 2. b)7. (c)6. (W ?/%WGX% /,[L’\?,,
E+" = 9 XA
?7:3
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9) If a 9-digit number 389x6378y is divisible by 72, then the value of sqrt(6x + 7y) will be:

—_—

Ife; Tk 9- 37T TEAT 389x6378y m, 72 | AT &, Y sqrt(6x + 7y) T AT gI9T:-

A8/ B)6. C)p. 27 €43
33%)(63?‘5@ /N
B XD 12
73?><M 3\ @0
gy =2 m> 6 S8
7 =6 V 6 £33

10) If11-digit number 5678x43267y is divisible by 72, then the value of sqrt(5x + 8y) is
Ife 11- 37h T T&AT 5678x43267y, 72 A [dAT g, af squrt (5x+8y )3T HATeT 19T

(a) 4. (b)\V(c)?. (d)8 fqn-kgg

c678X IR 772
4 /[~ z
=2 L +
.?3 2 ~ Cd= ,/f‘ﬁ 18X Z_

—
K Y vt IR El
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11). If 10-digit number 5432y1749x is divisible by 72 then what is the value of (5x - 4y)
ITe 10- 3T TEAT 5432y1749x, 72 T [T §, AT (5x - 4y) ST AT g

(@)9. (b)10. (c)14,~(d)15 ‘
+ 7
2N 1745 X
suzay |7y e | S
cuwzaY | ?YEE — gxg-k;g‘f
30 —
S+ 3 >~ 4 - Y

D

12) If the 10-digit number 897359y7x2 is divisible by 72, then what is the value of (3x + y) for the

possible greatest value of y? =
Ife; 10 37eht T TEAT 897359y7x2, 72 T AN g, Al y Sl THITAT TGTH 3 AT o [T (3.xry) HT AT
FT 872 ' —

(a)23.\/7b)28. (c)27. (d)25 Py /&
/N _S¢€
g%%/cy7zxg ® <D ag

S ++4 25 X = | ) € o
MR Y >~ S X Z
)J-'a:_u :;3/\ g
@23))  croey v 18 3oty = <

¢ L = »nry =13 3IXSTLRY
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13) For what value of x is the seven-digit number 46393x8 divisible by 11?
x o fore ATeT & forT A1 37ent T T&AT 46393%8, 11 T AHTST &

(a) 5. ib)f‘(c)Z (d) 7
A
We%¥a% x & ’

N\ | T+

14)What should replace in the number 94*2357, so that number is divisible by 11?
TEIT 94*2357 H Y fohd 3eh T UTAEATTUT el AR, ATfeh ag &A1 11 8 TaHT=T §1?
(a) 1. (b)7. ()8 (d)3

19 + X J7
TEFELE
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15) If 738A6A is divisible by 11, then the value of A is.

MR O 4 g3g0eh
NN

2 37—}—96 ~0
<+2 N0 ,/@ ;77”4

@

16) If digit number X35624 and 1257Y4 are divisible by 11 and 72, respectively, what is the value of
(5x - 2y) ?
T BF 37hl aTell TEI3TT x35624 3T 1257y4 HaAm: 11 3R 72 ¥ == § ar (5x - 2y) &1 AT Fa1
gm? — i .

Sn—24

(M)m. (c)10. (d) 13

2ot
7356y s |4 29 /~
Qi 38 87
/
Sn-27

30-Tg ~ '™
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17)If the nine-digit number 708x6y8z9 is 99what is the value of x+y+z?
T 708x6y829 ATelT il 37ehT ATell TEAT 99 A fAHTSH §, A x+y+z FT AT FAT§?

@)27. /" (b)5.  (c)16. (d)9
OBRGY 8 2
28— @4—647_) ~ 0o, zZ

18)If the 6-digit number is 15x1y2 is divisible by 44, then (x+y) is equal to:
Ife 6 31hIT T&AT 15x1y2, 44 F [THTST §, AT (x + y) RIS §:-

(a) 8. M]G (d) 9
| Cud 3
1<V (D) * "

~ &
a ! \,Ix))
| 2
‘f)\‘fj TeX 182
"”“6% o
= —
%;6 -—8'\”
®+'Y7 ~ [
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19) What is the value of x so that the 7-digit number 6913x08 is divisible by 887?
7 3R HEAT 691308, 88 ¥ TAHTST & I« X T AT 87

—

@4. (b)2. (c)8.-{)6

8 =@8
¢IIEAOS

/I~
1 g AL & X1
' Z
=
1C fo—12 =1
24+ v =M
™ v 8

20) If the 8-digit nuniber 2074x4y2 is divisible by 88 then the value of (4x + 3y) is
Ife 8 31hT T&aT 2074 .x4y2, 88 & e &, aF (4x + 3y) RN &:-

(a)49. (b)36. (c)42. (d)45 QB8
SoFuXuY2 /™~ 32
a =/ 72
& Lty —10 = 0, ! uy 2
X m*‘é—mza 7 7“—@/3’?
™+ ) U d 3] %
6 4o+gy-1o0=]l UL XD
ey 212 EYRIRN YD,
Wiee %y 9 d- 4
n: 5 7§ ]
Yo 13y v
uxa £3%X3
36+3 =V

L —
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21)What is the least value of x such that 517x324 is divisible by 127?

X T wgTcH HIeT T § o 517x324, 12 ¥ AT 72

(@3. (b)1. (c)O. (dy ﬁ/
gk, »(777;/ I 2_
/N
FE 2 ¢ Y

22) If 11-digit number 543247x968y is divisible by 90, then the value of (4x + 5y)
e 11 3iehT hT TEAT 543247x968y, 90 ¥ fadT=T &, dr (4x + 5y) FT ATA g

(W21. (c) 25. (d) 16 Sp
¢ uzlauzxX 36813 -c
CUIR2YTE R 263Y S Yoty
SH3fMyRBebo -
37 - -
U A CTY
uxg + <0
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